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1 4] 6|# 4 v (FAXS) @atkt 8 -8 8
4 12| (AElE) 1, 050, 000 1, 049, 992
2| 4] 19fernsmunn ois = runs0 2,680| 1,047,312 2, 680
3| 4| 19|FEFEFEHE 3H 27| 1,047, 285 27
4 4| 26[<NMxIFABAFE 410[ 1, 046, 875 410
5| 5| 10[# 1 ¥ (FAXSY) @EEEH 18] 1,046, 857 18
6| 5| 18|HEK I a—H)L 92,685] 954,172 92, 685
7] 5| 26|EFEF LA 36| 954,136 36
8| 5| 27(NHKf%EZ1E 6 7,102] 947,034 7,102
9 b 27 wrusmuwns ansn =/ rm) 1, 450 945, 584 1, 450
10[ 5] s1{<txiFA 6 H= 460] 945, 124 460
11] 6] 8|¥1vr (Faxsy) @amet 29 945, 095 29
12 6] 23|erssmns ois = ru. 550 1,510] 943,585 1,510
13 6] 25[< I xiFA7THE 460| 943, 125 460
14| 7| 7|Favn maxsy) @anet 29| 943,096 29
sy EH) 1, 050, 000 1,993, 096
15| 7| 12| %y = —=& 128, 000| 1, 865, 096 128, 000
16| 7| 20| &G LA & 77| 1,865,019 77
170 7] 20|erssmmns 6ns <sra. 500 4,180| 1,860, 839 4, 180
18] 7] 29[< hxiFAS8AHE 460| 1, 860, 379 460
19] 8| 20|FEaEMEAEITA & 27| 1, 860, 352 27
20| 8| 20|mruzmimng qan =/ sn) 530] 1, 859, 822 530
211 8 30[< nxiFA9AHF 460[ 1, 859, 362 460
221 9| 6L, La—r——axt 245, 300] 1,614, 062 245, 300
23] 9| 8lx#s¥ Gaxsy) mEEE 8| 1,614,054 8
24| 9| 24 |ernmminn wnn < ruenos 1,580| 1,612,474 1, 580
25| 10| 5[ nzxiFZA10H%= 460] 1,612,014 460
26| 10| 11[{P9=H#14y (S[E1H) 1, 050, 000 2,662,014
27| 10| 21|EGEMHEHEOH & 9] 2,662,005 9
28| 10| 21 |wrummmmne iy </ rm) 850| 2,661, 155 850
29| 10| 25[< o xiFA 1 1 H & 460| 2, 660, 695 460
30| 11| 10{# 1% (FAXSY) S@EEEH 8| 2,660,687 8
31| 11| 24|srummuns wnp < ra-n50 400| 2, 660, 287 400
32[ 11] 30[< hxiZA 1l 2 A= 460| 2, 659, 827 460
33| 12| T[4 v GAXsy) ikt 8| 2,659,819 8
34| 12| 21 |srummsms s =/ 20) 730] 2,659, 089 730
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12| 21|EFEEAHENLA 5 9] 2,659,080 9
12| 271[< M2 FA 1 A& 460| 2, 658, 620 460

1] 11|95 (4Rl E) 1, 050, 000 3, 708, 620

1| 11|77V v Z— b F—ft 49, 100| 3, 659, 520 49, 100

1| 14[1/25% 58 % v LB 8, 780| 3,650, 740 8, 780

1| 21|&EEhEfE HEI2H 5 16| 3,650, 724 16

1| 21 [mrmammns a2an /20 2,090] 3,648, 634 2, 090

1| 25|47 EiAAME (113—114) 2,970| 3,645, 664 2,970

1] 26|<NZIFA 2 H= 460| 3, 645, 204 460

o| 14|51 % 1 Gaxsy) w@ER 18| 3,645, 186 18

2| 22w rwmmng i = 20 750( 3, 644, 436 750

2| 28|< N x XA 3 A= 460| 3, 643,976 460

3] 17 937, 365| 2,706, 611 937, 365
3| 17 |wrmsmmme eay =/ 70 930 2, 705, 681 930

3| 17| EREFE R A 4 9| 2,705,672 9

3| 30K xiFA4 A7 460[ 2, 705, 212 460

4, 200, 000[ 1, 494, 788] 2, 705, 212 17,680 101,125 0 8, 780 7,438 49, 100] 373,300 937, 365




